ch 4

42.
(i)
$$X \sim EXP(\lambda)$$
, $o < X < \omega$, $\lambda > o$
 $E[X] = \frac{1}{X}$, $Va_{Y}[X] = \frac{1}{X}$, $T = \frac{1}{X}$
 $P[[X - G[X]] > kT] = P[[X - \frac{1}{X}] > \frac{k}{X}]$
 $= P[[X - \frac{1}{X}] > \frac{k}{X}] + P[X - \frac{1}{X}] < -\frac{k}{X}]$
 $= P[[X - \frac{1}{X}] > \frac{k}{X}] + P[X - \frac{1}{X}] < -\frac{k}{X}]$
 $= P[[X - \frac{1}{X}] > \frac{k}{X}] + P[X - \frac{1}{X}] < -\frac{k}{X}]$
 $= P[[X - \frac{1}{X}] > \frac{k}{X}] + P[X - \frac{1}{X}] < -\frac{k}{X}]$
 $= P[[X - \frac{1}{X}] > \frac{k}{X}] + P[X - \frac{1}{X}] < \frac{k}{X}]$
 $= P[[X - \frac{1}{X}] > \frac{k}{X}] + P[X - \frac{1}{X}] < \frac{k}{X}]$
 $= P[[X - \frac{1}{X}] > \frac{k}{X}] < \frac{1}{X} - \frac{1}{X}] < \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X} = \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X} = \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X} = \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X} = \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X} = \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X} = \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X} = \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X} = \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X} = \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X} = \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X} = \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X}$
 $f = P[[X - \frac{1}{X}] > \frac{1}{X}] < \frac{1}{X}$
 $f = \frac{1}{Y} > 0$
 $f = \frac{1}{Y} = \frac{1}{Y}$

Jointly made by 趙致平, 許家綸, 黃彥霖 助教

49 (C)

59.

$$V_{av}\left(\frac{X+Y}{2}\right) = \frac{\Gamma_{x}^{2} + \Gamma_{y}^{2}}{4}$$

We prefer to use the average $Z = \frac{X+Y}{2}$, if it has the smaller variation than that either of X or Y alone

$$V_{ar}\left(z\right] \leq V_{ar}\left(x\right] = \left\{ \begin{array}{c} \frac{\nabla_{x} + \nabla_{y}}{4} \leq \nabla_{x}^{2} \\ \frac{\nabla_{x}^{2} + \nabla_{y}^{2}}{4} \leq \nabla_{x}^{2} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{x}^{2}}{\nabla_{y}^{2}} > \frac{1}{3} \\ \frac{\nabla_{x}^{2}}{24} \leq \nabla_{y}^{2} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{x}^{2}}{2} \leq \frac{1}{3} \\ \frac{\nabla_{x}^{2}}{24} \leq \frac{1}{3} \\ \frac{\nabla_{x}^{2}}{4} \leq \frac{1}{3} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{x}^{2}}{2} \leq \frac{1}{3} \\ \frac{\nabla_{x}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{x}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{x}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{x}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{x}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{x}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{x}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \\ \frac{\nabla_{y}^{2}}{4} \leq \frac{1}{3} \end{array} \right\} = \left\{ \begin{array}{c} \frac{\nabla_{y}^{$$

$$f(x,y) = \frac{1}{\pi}, \quad 0 \le x^2 + y^2 \le 1$$

$$f(y) = \int_{-\sqrt{1-y^2}}^{\sqrt{1-y^2}} \frac{1}{\pi} dx = \frac{2\sqrt{1-y^2}}{\pi}, \quad -\ln y \le 1$$

$$f(x) = \int_{-\sqrt{1-x^2}}^{\sqrt{1-x^2}} \frac{1}{\pi} dy = \frac{2\sqrt{1-x^2}}{\pi}, \quad -\ln x \le 1$$

$$(OV(XY))= \mathbb{E}[XY] - \mathbb{E}[X] \cdot \mathbb{E}[Y] = \int_{0}^{1} \int_{-1}^{\sqrt{1-y^{2}}} \frac{Xy}{\pi} dx dy - \int_{-1}^{1} x \cdot \frac{2\sqrt{1-x^{2}}}{\pi} dx \cdot \int_{-1}^{1} y^{2} \frac{\sqrt{1-y^{2}}}{\pi} dy$$

$$(OV(XY)) = \mathbb{E}[XY] - \mathbb{E}[X] \cdot \mathbb{E}[Y] = \int_{0}^{1} \int_{-1}^{\sqrt{1-y^{2}}} \frac{xy}{\pi} dx dy - \int_{-1}^{1} x \cdot \frac{2\sqrt{1-x^{2}}}{\pi} dx \cdot \int_{-1}^{1} y^{2} \frac{\sqrt{1-y^{2}}}{\pi} dy$$

$$= O(1 - 1) + O(1 -$$

61.

$$\begin{aligned} & \stackrel{(a)}{=} (\cdot \sqrt{(X,Y)} = E[XY] - E[X] \cdot E[Y] \\ &= \int_{0}^{1} \int_{0}^{3} x \cdot y \cdot 2dxdy - \int_{0}^{1} \int_{0}^{3} x \cdot z \, dx \, dy \times \int_{0}^{1} \int_{0}^{3} y \cdot z \, dx \, dy = \frac{1}{16} \\ & \stackrel{(a)}{=} \int_{0}^{1} \int_{0}^{3} x^{2} f(x,y) \, dx \, dy - \left(\frac{1}{3}\right)^{2} = \frac{1}{34} \\ & \stackrel{(a)}{=} V_{av}(Y) = \int_{0}^{1} \int_{0}^{3} y^{2} f(x,y) \, dx \, dy - \left(\frac{1}{3}\right)^{2} = \frac{1}{16} \\ & \stackrel{(a)}{=} \left((X,Y) = \frac{(a \cdot (X,Y))}{\sqrt{V_{av}(X)} - \sqrt{V_{av}(Y)}} = \frac{1}{\sqrt{V_{av}(X)}} > 0 \quad y \not \not E \neq 0 \quad |\mathcal{B}| \\ & \stackrel{(a)}{=} \left((X,Y) = \frac{(a \cdot (X,Y))}{\sqrt{V_{av}(X)} - \sqrt{V_{av}(Y)}} = \frac{1}{\sqrt{V_{av}(X)}} > 0 \quad y \not \not E \neq 0 \quad |\mathcal{B}| \\ & \stackrel{(a)}{=} \left((X,Y) = \frac{(a \cdot (X,Y))}{\sqrt{V_{av}(X)} - \sqrt{V_{av}(Y)}} = \frac{1}{\sqrt{V_{av}(X)}} > 0 \quad y \not \not E \neq 0 \quad |\mathcal{B}| \\ & \stackrel{(b)}{=} \left((X,Y) = \frac{(a \cdot (X,Y))}{\sqrt{V_{av}(X)} - \sqrt{V_{av}(X)}} = \frac{1}{\sqrt{V_{av}(X)}} > 0 \quad y \not f(X,y) \\ & \stackrel{(b)}{=} \left((X,Y) = \int_{0}^{3} \pi \cdot f(x) \, y \right) \, dx = \int_{0}^{3} \pi \cdot \frac{2}{\sqrt{y}} \, dx = \frac{y}{2} \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} y \cdot f(y) \, dy = \int_{0}^{3} \frac{1}{\sqrt{(1+x)}} \, dy = \frac{y}{2} \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} y \cdot f(y) \, dy = \int_{0}^{3} \frac{1}{\sqrt{(1+x)}} \, dy = \frac{y}{2} \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} y \cdot f(y) \, dy = \int_{0}^{3} \frac{1}{\sqrt{(1+x)}} \, dy = \frac{y}{2} \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} y \cdot f(y) \, dy = \int_{0}^{3} \frac{1}{\sqrt{(1+x)}} \, dy = \frac{y}{2} \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} y \cdot f(y) \, dy = \int_{0}^{3} \frac{1}{\sqrt{(1+x)}} \, dy = \frac{y}{2} \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} \frac{1}{\sqrt{(1+x)}} \, dy = \int_{0}^{1} \frac{1}{\sqrt{(1+x)}} \, dy = \frac{y}{2} \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} \frac{1}{\sqrt{(1+x)}} \, dy = \int_{0}^{3} \frac{1}{\sqrt{(1+x)}} \, dy = \frac{y}{2} \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} \frac{1}{\sqrt{(1+x)}} \, dy = \frac{y}{2} \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} \frac{1}{\sqrt{(1+x)}} \, dy = \frac{y}{2} \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} \frac{1}{\sqrt{(1+x)}} \, dy = \frac{y}{2} \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} \frac{1}{\sqrt{(1+x)}} \, dy \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} \frac{1}{\sqrt{(1+x)}} \, dy \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} \frac{1}{\sqrt{(1+x)}} \, dy \\ & \stackrel{(c)}{=} \left((X,Y) = \int_{0}^{1} \frac{1}{\sqrt{(1+x)}} \, dy \\ & \stackrel{(c)}{=} \left((X,Y) = (X,Y) = \int_{0}^{1} \frac{1}{\sqrt{(1+x)}} \, dy \\$$

Jointly made by 趙致平, 許家綸, 黃彥霖 助教

(d)

$$if_{if} = \xi = if_{if} = \frac{1}{4} \int_{X} \int_{Y} \int_{$$

Ch4. 67. Circumferent = 2x+2Y, area=XY $X \sim U(0, 1)$ Yilkn U(0, X) $\forall E(2x+2Y) = 2E(x+Y) = 2E[E(X+Y|X)] = 2E(X+\frac{X}{2}) = E(3X)$ $= \frac{3}{2}$ $\Rightarrow E(XY) = E[E(XY|X)] = E(\frac{x^{2}}{2}) = \frac{1}{6}$

15. det
$$T \sim Eq(t)$$

 $\Box | T \sim U(0, T)$
 $E(U) = E[E(U|T)] = E(\frac{T}{2}) = \frac{1}{2k}$

$$Var(U) = Var(E(U|T)) + E[Var(U|T)]$$

= $Var(\frac{1}{2}) + E[\frac{1}{12}]$
= $\frac{1}{4}\frac{1}{2^{2}} + \frac{1}{12}\frac{2}{2^{2}} = \frac{5}{12}\frac{1}{2^{2}}$

76.
$$f(x, y) = \begin{cases} \frac{2}{\pi}, & x^2 + y^2 \le 1, & y \ge 0, \\ (0, \dots, 0, \omega) \end{cases}$$

$$f(x) = \int_{0}^{\sqrt{1-x^2}} \frac{1}{\pi} dy = \frac{2}{\pi} \sqrt{1-x^2}, & t \le x \le 1$$

$$f(y) = \int_{-\sqrt{1-y^2}}^{\sqrt{1-y^2}} \frac{1}{\pi} dx = \frac{4}{\pi} \sqrt{1-y^2}, & 0 \le y \le 1.$$

$$f_{y|x}(y) = \frac{f(x, y)}{f(x)} = \frac{1}{\sqrt{1-x^2}}, & 0 \le y \le \sqrt{1-x^2}$$

$$f_{x|Y}(x) = \frac{f(x, y)}{f(y)} = \frac{1}{\sqrt{1-y^2}}, & \sqrt{1-y^2} \le x \le \sqrt{1-y^2}$$

$$\emptyset \ X \ be \ observed, \ the \ hest \ prediction \ of \ Y = \mathcal{E}[Y|X]$$

$$\mathcal{E}[Y|X] = \int_{0}^{\sqrt{1-x^2}} \frac{y}{\sqrt{1-y^2}} dy = \frac{\sqrt{1-x^2}}{2}$$

$$\widehat{O} \ Y \ be \ observed, \ the \ best \ prediction \ of \ X = \mathcal{E}[X|Y]$$

$$E[X|Y] = \int_{\frac{1}{y^2}}^{\frac{1}{y^2}} \frac{x}{2 \sqrt{1-y^2}} \, dx = 0$$

$$2h4,$$

$$77,$$

$$f(x, y) = e^{-y}, \quad 0 \le x \le y,$$

$$f(x) = \int_{x}^{\infty} e^{-y} dy = -e^{-y} \Big|_{x}^{\infty} = e^{-x}, \quad 0 \le x \le \infty$$

$$f(y) = \int_{0}^{y} e^{-y} dx = ye^{-y} \quad 0 \le y \le \infty$$

$$f(y) = \int_{0}^{\infty} \int_{0}^{y} xye^{-y} dx dy = \int_{0}^{\infty} \int_{2}^{y} e^{-y} dy,$$

$$= -\frac{y^{3}}{2}e^{-y}\Big|_{0}^{\infty} + \frac{z}{2}\int_{0}^{\infty} y^{2}e^{-y} dy, = \frac{3}{2}x^{2} = 3.$$

$$C_{0}(X, Y) = G(XY) - G(X)G(Y) = 3 - 1x^{2} = 1.$$

$$C_{0}(X, Y) = \frac{C_{0}(X, Y)}{1}e^{-y} = \frac{e^{-y}}{e^{-y}} = \frac{1}{2}$$

$$C_{0}(X, Y) = \int_{0}^{y} \frac{x}{y} dx = \frac{e^{-y}}{e^{-y}} = e^{-y+x}$$

$$f(x|Y) = \frac{f(x,y)}{1}e^{-y} = \frac{e^{-y}}{e^{-x}} = e^{-y+x}$$

$$f(x|Y) = \frac{f(x,y)}{1}e^{-y} = \frac{e^{-y}}{e^{-x}} = e^{-y+x}$$

$$f(y|X) = \frac{f(x,y)}{1}e^{-y} dx = \frac{z}{2}.$$

$$g(Y|X-x) = \int_{0}^{y} \frac{x}{y} dx = \frac{z}{2}.$$

$$g(Y|X-x) = \int_{0}^{y} \frac{x}{y} dx = \frac{z}{2}.$$

$$f(x) = 4te^{-xt}$$

$$g(y|X) = f(y|X) = x, \quad (x = t^{3})$$

$$f_{1}(x) = e^{-x}, \quad (x = t^{3})$$

$$f_{2}(x) = e^{-x}, \quad (x = t^{3})$$

$$f_{3}(x) = e^{-x}, \quad (x = t^{3})$$

$$f_{3}(x) = e^{-x}, \quad (x = t^{3})$$

$$f_{3}(x) = e^{-x}, \quad (x = t^{3})$$

CH4 80. X ~ f(x)=2x, ocxcl $\mathcal{D}_{M_{X}(t)} = E(e^{xt}) = \int_{0}^{t} e^{xt}(2x) dx = 2 \int_{0}^{t} x e^{xt} dx$ $\frac{IBP}{=2\left(\frac{x_{e}^{Xt}}{4} - \int_{0}^{1} \frac{e^{Xt}}{4} dx\right) = 2\left(\frac{e^{t}}{(e^{-0})} - \frac{1}{2}\frac{e^{Xt}}{4}\right)$ $= 2\left(\frac{te^{-e^{-}+1}}{t^{2}}\right)_{\#}$ $E(x) = M'(t)|_{t=0} \quad H(t) = \frac{2(t^2 t - 2te^{t} + 2e^{t})}{t^3} \quad \lim_{t \to 0} H(t) = \lim_{t \to 0} \frac{2e^{t} + te^{t}}{3} = \frac{2}{3}$ By def $E(x) = \int_{0}^{1} x(2x) dx = 2 x \frac{x^{3}}{3} \Big|_{0}^{1} = \frac{2}{3} \frac{x}{3}$ $\frac{(3)}{F(x)} = H''(t)|_{x=0} + H'(t) = \frac{2(t^2e^{t} - 3t^2e^{t} + 6te^{t} - be^{t} + 2t)}{t^4}, \quad \lim_{t \to 0} H'(t) = \frac{1}{2}$ By def $E(\chi^{2}) = \int_{0}^{1} \chi^{2}(2x) dx = 2x \frac{\chi^{2}}{4} \Big|_{0}^{1} = \frac{1}{2} \chi^{2}$ 91. $X \rightarrow Exp(\lambda)$ $H_X(t) = \frac{\lambda}{\lambda - t}$, $ocx < \infty$, c > 0, $\lambda > 0$. $E(e^{cxt}) = \frac{\lambda}{2 \cdot t} = \frac{1}{2 \cdot t}$ · By HGF MB-H±. · CX→ Exp(2)